6-3-2-1

2 mallet exercise
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Variations:
1. different numeric combinations (7-4-3-2)
2. leave out the first note of each grouping (sans alpha)
3. leave out the last note of each grouping (sans omega)
4. first note only (alpha)
5. first and last note only (alpha and omega)
6. backwards (with any combination of 1-5)
7. set number without stoping (infinity)

E]ghts Variations:
. 1.A/B
in all keys 2. B/A
¢ | Il ! ! Il 1 -
I
Y 1 T o1
— .
2
0 1 L 1
[ - | . T T T 1 1 L] T A |
l_'r ; = % + F !j 11 1 3 L J ! 1 B - T T T L - T L | 1
- £ # o £ . J""l'l T 7 P
{ o { I et ¥  ; ¥
) |
b 2 M 1 i 1 1 1 1 | ) | I : t : I
4 — !
R R A B P P e s e e e e e . o
[ 5 s e P 1 o R L G Gl M ] o e e i; é é‘ é £ ,I ] ¥ ¥ ¥ j




REREA ELRERSESL RIR RLRL

Cm

1 85Y
s

Cm(a7

T

1Y

] ML

1195%
v

ot

R R R R R R R R RLRLRLRLRLRLRLTR RL

R.L'LR L- R RESRsIL. ER=]T. R RL

SR




